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NO. $¥%ﬁ'\ %%EH% %‘I‘iﬁfﬁ'ﬁ%% FﬁT:Eiﬂ_“, IZI_I j((nf) X(EH) j((EFq) ﬁ(Fq/H)
1 SWV=FEHdLX = RHET uQa BE WV -FHIt X EREET 6 179.31 300 11 34,000
2 EBSET I T V(AIIIHRX) uv %t AR HHBBAHWLUFRE 5 163.21 250 26 61,200
3EBLTETIMMN -TV(BHEHK) uv %t AR HHBBAHWLUFRE 3 158.12 250 26 59,000
4 EBEFRETIMN-TV)T57K) uv  #t AR HHEBBAHWLUFRE 1 158.92 250 26 58,800
5 EESET MM -TV(B#EHR) (FD2) uv  #t AR HHEBBAHWLUFRE 2 158.08 250 26 60,200
6 EETET7 MM -T V7 77K) (FD2) uv %t AR RHEARATILFEA 2 165.25 250 26 62,100
1EETET MM -TV777K) (FD3) uv %t AR RHEARATILFEA 4 163.75 250 26 61,500
8 FixTEMT WE %t PN iR SEHE] 1 116.34 200 14 39,106
9 WiEHARE X HHET WE %t = iETmAB X & HET 1 165.88 200 4 27,820

10 2 HHTEEHET SN #t A L HHEEET 3 293.54 150 23 36,000
11 MZHEH WD %t =50 HMZHHFH 1 137.46 150 23 19,000
12 KAFm L5 ET SN %t =50 KRF < ET 1 197.34 150 23 30,000
13 B EHmFERX T ILET SN #t 5N o ETHEERX T ILET 2 232.49 150 23 59,000
14 SN2 E K 2 HT LK %t A % ERE 2 HT 1 176.93 120 23 13,000
15 [if] 1135 77 75 A SER T SN #t A fiE] 165 T 7 A SER AT 1 288.37 100 23 25,000
16 [ AL AERET (ZD 1) SN #t =50 fif] W 7 At A< SR ET 1 209.51 100 23 25,000
17 2 HETERTEET SN %t g3l E AhiniEmT 2 212.84 100 23 37,500
18 Z AT A BT SN #t A 2 BAT A T 1 223.81 100 23 27,000
19 [T AL A PERET (Z D 2) SN %t pEp Il [iE] W35 i At A< SER AT 1 221.86 70 23 15,000
20 T R ET SN #t I I h &3 AT 1 128.19 60 23 18,000
21 ZBEEMTFERIETE SN #t gl HEEMTFERIFE 1 80.09 6 23 19,400
22 W& /\BEET EK #t ZH N &\ EET 3 186.71 23 29,000
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